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Geometry
' Review Worksheet: Triangle Congruence

I. Interior and Exterior Angles.
2. Find the value of x. Show all work.

3X-8+20+d = |FU

a. 47° 59

iox —¢€ =2 |1 PO

3. Use the figure below to complete each statement by using <, >, or =.

a. mzé6__~— m«1 because Vf’”‘*mf ﬂﬂ//ﬁ?’f 0)1/@@;«7{

) e . é’)(ﬁh 5~
b. mz4 ( m~1 because /M < | :/”/Zf‘f WZ/*,/ ')
Cc. mz2 > m«7 because %h’ﬂu/d J?%/m,. angf€ %/Uff’m
d. mzZ12_— m«4 because V (’Aﬁwp C-"itq]f/ltj‘ c@jm&j'

Il. Name the property illustrated by the statement.

4. If L1 = /2, then £L2= /1. 'Rep/@c‘iv“’w /)“:,F«"’izf Ji/ /zs%q Yion (o
_ Jd., b
5. 1f UV =WX and WX =YZ, then UV =YZ. ﬁ//n;,;ém «)MNL / ezudl j

6. ZQRS = /SRQ.
lll. Congruent Triangles: Determine if there is enough information to prove the triangles are congruent.
If so, state which postulate or theorem would be used to prgv,eibgme congruent. If not, write “not

enough information”. L \
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IV. Complete the following proofs. T - T N
Given: NT // ﬁﬁ NS =HS T
Prove: ATNS = AUHS S
Statements Reasons -+
S — . Wi
1. NT// HU 1. (5ven H > u
2. ZINS = ZUHS 2. Right angles congrank
J5°0
3. NS=HS 3. Cj’?g’v?m
4. /TSN = ZUSH s Vet cz;fjiﬂ" @vaj
5. ATNS = AUHS 5. ASA
12. Given: mZ JKL = m £ MLK = 90°, JL = MK K J
Prove: AJKL = AMLK
Statements Reasons
1.ZKL=m AL MLK =90° 1. Given | &= : M
2. AJKL and AMLK are 2. Definition of a right triangle
Right Triangles
3. I = WK 3. Given
4. KL =KL 4. Qag [exise Pm{ne«‘g
5. AJKL = AMLK 5. H|
13.

Tell which theorem (555, SAS, ASA, AAS, HL) can be used to

prove the triangles

congruent. Remember to mark vertical angles and segments t
themselves (reflexive property) T

hat are equal to
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14,

Given: ZDAG = LWAS, L WAS = ZSAG, N S
mZLDAG=2x+8 m/LWAS=3x-18
Prove: m £ SAG = 60° <o
D A
Statements | Reasons
1. ZDAG = ZWAS, 1. Given

m/ZDAG =2x+8
mZWAS=3x-18

2. 3x-18=2x+8
3. x-18=8

4. x=26

5. mZWAS = 60°

6. ZLWAS = LSAG

7. mZWAS = mZ£SAG

8. mLSAG = 60°

Find the valoe of 1.

Draw a
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2. Sus 5%?1&4/0%\

3. Additmn

4. Sl -ﬁﬁeﬁm

5. Sub < 4ifution

6. Given

7. Dg? ég”

LB Mz—wf ﬁ’*’?j}{f ‘
8. ’71:?1%;3 5 ‘7%?,% /ﬁwyr “E’#{é; AZ"? [0*”1} cuamie [ s su 5,5 £

o) 7
SX =7

F"

Bc =L

diagram of the 2 triangles and label. Then find x.
| S - ? = 2O
3x=dF i X = "’7?/
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7.

In each case, mark the diagram with the information given, and decide whether you can
conclude that ARXY is congruent to ASXY. If you do, say why (555, SAS, ASA, AAS). If
) you don't, say so.

(a) iven: f"f? = 5K RY = AT

XY= XY ( ﬁ(%’fmm P@f&i’})
@ o L8

(b) Davens f’g ? = %3" r R e L8 B

Nt e’mmj ;
. ; # i é "}% .

{c) Given: XY bisects £ CRES and £ RYS.

/e’
LRXY =2Z5XY [RYK=/SYx (b Wf}{
XY = XY (Reflexiie propecty)
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18. If the triangles below can be proved congruem‘ by one of the five properties you have had (SAS,

ASA AAS, SSS, HL) write its initials. If not, state “no property”

A A A A A S

sAGE = aCDF §§§ AACB = AADB f;/ij
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